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NEW QUESTION 1

A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing

commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty
D. Press the TAB key to reprint the command in a new line
E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 2
What is the structure of a JSON web token?

A. three parts separated by dots: header payload, and signature

B. header and payload

C. three parts separated by dots: version header and signature

D. payload and signature

Answer: A

NEW QUESTION 3

A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled. In a dual-stack network with

two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?

00 w»
o DN

Answer: B

NEW QUESTION 4

Which behavior can be expected when the HSRP versions is changed from 1 to 2?

A. Each HSRP group reinitializes because the virtual MAC address has changed.

B. No changes occur because version 1 and 2 use the same virtual MAC OUI.

C. Each HSRP group reinitializes because the multicast address has changed.

D. No changes occur because the standby router is upgraded before the active router.

Answer: C

NEW QUESTION 5
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 10,000 000255 any
|

< Curput Chnitted=—

L

intarace GigabalkEtharmsto o

ip access-group EGRESS out
cluplex salo

speed auto

media-type 45

ip address 200 165.200.225 255.255.255.0

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:
of this behavior is true?

A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.
B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.

D. The access control list must contain an explicit deny to block traffic from the router.

Answer: A

NEW QUESTION 6
Refer to the exhibit.
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VPN_A VPN_B
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Assuming that R is a CE router, which VRF is assigned to Gi0/0 on R1?

A.VRF VPN_B
B. Default VRF
C. Management VRF
D. VRF VPN_A

Answer: D

NEW QUESTION 7
When using TLS for syslog, which configuration allows for secure and reliable transportation of messages to its default port?

A. logging host 10.2.3.4 vrf mgmt transport tcp port 6514
B. logging host 10.2.3.4 vrf mgmt transport udp port 6514
C. logging host 10.2.3.4 vrf mgmt transport tcp port 514
D. logging host 10.2.3.4 vrf mgmt transport udp port 514

Answer: A

NEW QUESTION 8
A client device fails to see the enterprise SSID, but other devices are connected to it. What is the cause of this issue?

A. The hidden SSID was not manually configured on the client.

B. The broadcast SSID was not manually configured on the client.

C. The client has incorrect credentials stored for the configured hidden SSID.

D. The client has incorrect credentials stored for the configured broadcast SSID.

Answer: A

NEW QUESTION 9
Which statement about agent-based versus agentless configuration management tools is true?

A. Agentless tools require no messaging systems between master and slaves.

B. Agentless tools use proxy nodes to interface with slave nodes.

C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes.
D. Agent-based tools do not require installation of additional software packages on the slave nodes.

Answer: D

NEW QUESTION 10
If a VRRP master router fails, which router is selected as the new master router?

A. router with the highest priority
B. router with the highest loopback address
C. router with the lowest loopback address
D. router with the lowest priority

Answer: A

NEW QUESTION 10

Which protocol does REST API rely on to secure the communication channel?
A. TCP

B. HTTPS

C. SSH

D. HTTP

Answer: B

NEW QUESTION 12
On which protocol or technology is the fabric data plane based in Cisco SD-Access fabric?
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A. LISP

B. IS-IS

C. Cisco TrustSec
D. VXLAN

Answer: D

NEW QUESTION 17
Refer to the exhibit.

Antenna Arimuth Plane Parbam Antgnna Elovanion Planes Patienm

Which type of antenna do the radiation patterns present?

A. Patch

B. Omnidirectional
C. Yagi

D. Dipole

Answer: A
NEW QUESTION 18
Which statement about Cisco Express Forwarding is true?

A. It uses a fast cache that is maintained in a router data plane.
B. maintains two tables in the data plane the FIB and adjacency table.

C. It makes forwarding decisions by a process that is scheduled through the 10S scheduler.

D. The CPU of a router becomes directly involved with packet-switching decisions.

Answer: B

NEW QUESTION 21
The login method is configured on the VTY lines of a router with these parameters.

D’ The first method for authentication is TACACS

> If TACACS is unavailable, login is allowed without any provided credentials
Which configuration accomplishes this task?

Ri1#sh run | include aaa

aza new maodel

A3a authantication login WY group ta3cacs+ none
AAA session-id common

R1z=h run | 2ection viy
line vty O 4
password [ 020500480808

Hizsh run | include username
Hi1z

= R1%Fsh run | include aaa

T aaa new-model
aaa authentication login defaul group tacacs+
AAA Session-id comnon

Ri7sh run | =ection vy
line vty 04

transport input None
H1%=

Rizsh run | include aaa

aaa new-model

aaa authentication login default group tacacs+ none
asa session-id common

Rimsh run | section vty
lire wiy O 4
passwand 7 oS0 aseog

R1#7sh run | include aaa

333 naw maodel

3aa authentication login telnet group tacacs+ none
AAR SEeSSI0N-id oormmon

H1zsh run | secticon vy
hire vy O 4

HiZsh run | include username
H1=

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: C
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NEW QUESTION 26
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.

B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 29
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.

‘ | IOn Premises

..... e | P E0 AF B AT E . PP BOEE-E LN SysL e 3

ot

A. Mastered
B. Not Mastered

Answer: A

Explanation:

On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet
NEW QUESTION 34

Which access controls list allows only TCP traffic with a destination port range of 22-433, excluding port 807

A. Deny tcp any any eq 80 Permit tcp any any gt 21 it 444

B. Permit tcp any any ne 80

C. Permit tcp any any range 22 443 Deny tcp any any eq 80

D. Deny tcp any any ne 80Permit tcp any any range 22 443

Answer: A

NEW QUESTION 36
Refer to exhibit.

=~ = =

SW1 SwW2 SWW3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command
ensures that SW3 receives frames only from VLAN 507

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 40

A response code of 404 is received while using the REST API on Cisco UNA Center to POST to this URI.
/dna/intent/api/vl /template-programmer/project

What does the code mean?

A. The client made a request a resource that does not exist.

B. The server has not implemented the functionality that is needed to fulfill the request.

C. The request accepted for processing, but the processing was not completed.

D. The POST/PUT request was fulfilled and a new resource was created, Information about the resource is in the response body.

Answer: A
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NEW QUESTION 41
What is a benefit of deploying an on-premises infrastructure versus a cloud infrastructure deployment?

A. faster deployment times because additional infrastructure does not need to be purchased
B. lower latency between systems that are physically located near each other

C. less power and cooling resources needed to run infrastructure on-premises

D. ability to quickly increase compute power without the need to install additional hardware

Answer: B

NEW QUESTION 45

What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.
Answer: D

NEW QUESTION 46
Refer to the exhibit.

S5W2 SWa3
q a2 i Gi1/2
E=1 L E=x
Gilr/3 Po30 Gil/3
Intarface gil/Z
Channal—group 20 mods desirakls

Channel —group 230 mods desirakbls
Port-—cha el load-balance Sroe-—i1p
Interface PortChannel 20

=% porct 1 r k

Switchport encapsulatio dotldg
Switchport trunk allowed la 10-100

A port channel is configured between SW2 and SW3. SW2 is not running a Cisco operating system. When all physical connections are mode, the port channel
does not establish. Based on the configuration excerpt of SW3, what is the cause of the problem?

A. The port channel on SW2 is using an incompatible protocol.

B. The port-channel trunk is not allowing the native VLAN.

C. The port-channel should be set to auto.

D. The port-channel interface lead balance should be set to src-mac

Answer: A

NEW QUESTION 51

Which statements are used for error handling in Python?

A. try/catch

B. try/except

C. block/rescue

D. catch/release

Answer: B

NEW QUESTION 53

Which statement about an RSPAN session configuration is true?
A. A fitter mutt be configured for RSPAN Regions

B. Only one session can be configured at a time

C. A special VLAN type must be used as the RSPAN destination.

D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 56

A local router shows an EBGP neighbor in the Active state. Which statement is true about the local router?

A. The local router has active prefix in the forwarding table from the neighboring router
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B. The local router has BGP passive mode configured for the neighboring router
C. The local router is attempting to open a TCP session with the neighboring router.
D. The local router is receiving prefixes from the neighboring router and adding them in RIB-IN

Answer: C

NEW QUESTION 59

At which Layer does Cisco DNA Center support REST controls?
A. EEM applets or scripts

B. Session layer

C. YMAL output from responses to API calls

D. Northbound APIs

Answer: D

NEW QUESTION 63

What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful API interface for orchestrator communication

D. Interface between the controller and the consumer

Answer: A

NEW QUESTION 67

A customer has several small branches and wants to deploy a WI-FI solution with local management using CAPWAP. Which deployment model meets this

requirement?

A. Autonomous

B. Mobility Express

C. SD-Access wireless
D. Local mode

Answer: B

NEW QUESTION 72
Which statement about route targets is true when using VRF-Lite?

A. When BGP is configured, route targets are transmitted as BGP standard communities.
B. Route targets control the import and export of routes into a customer routing table.

C. Route targets allow customers to be assigned overlapping addresses.

D. Route targets uniquely identify the customer routing table.

Answer: B

NEW QUESTION 76
Which technology provides a secure communication channel for all traffic at Layer 2 of the OSI model?

A. MACsec

B. IPsec

C.SSL

D. Cisco Trustsec

Answer: A

NEW QUESTION 81
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric
D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 86
Which feature must be configured to allow packet capture over Layer 3 infrastructure'?

A. VSPAN
B. IPSPAN
C. RSPAN
D. ERSPAN
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Answer: D

NEW QUESTION 90
Which description of an SD-Access wireless network infrastructure deployment is true?

A. The access point is part of the fabric underlay.
B. The WLC is part of the fabric underaly.

C. The access point is part the fabirc overlay.

D. The wireless client is part of the fabirc overlay.

Answer: C

NEW QUESTION 93
Refer to the exhibit.

- il _ o
.-""f "‘HH __.-"' - e ¥
-

AS1 \ 7 AS2

| == %Fa:}m\ 192.168.10.0/24 |I, Famﬁemuli‘m" .

\ = LA \ > S
\,:_- % R2 -
< / :

— = e

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers

through BGP?
A)

R1(config)y¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)ymnetwork 10.1.1.0 mask 255.255.255.0

R2?(configFfrouter bgp 2
R2Z(confiqg router ) Tnelghbor 192.168.10.1 remote-as 1
R2Z2(config-router)Znetwork 10.2.2.0 mask 255.2585.285.0

B)

R1(conhg)¥router bgp 1
R1{config-routcr )J#neighbor 10.2.2.2 remote-as 2
R1(config-router }#network 10.1.1.0 mask 266.266.266.0

R2(config)¥router bgp 2
R2(config-router)neighbor 10.1.1.1 remote-as 1
R2(config router)metwork 10.2.2.0 mask 255.255.255.0

C)

R1(conhg =router bgp 1
R1(conhg-router JZneighbor 192.168.10.2 remote-as 2
R1(conhg-router Jnetwork 10.0.0.0 mask 256.0.0.0

RZ(conhg)=router bgp 2
R2Z(conhg-routcr J#neighbor 192.168.10.1 remote-as 1
R2Z2(config-router J¥network 10.0.0.0 mask 266.0.0.0

D)

R1(config)router bgp 1

R1(config router)¥neighbor 10.2.2.2 remote-as 2
R1(config router)Tneighbor 10.2.2.2 update-source 100
R1(config-router rnetwork 10.1.1.0 mask 255.255.255.0

RZ(conhg)=router bgp 2

RZ(conhg-router neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router J=neighbor 10.1.1.1 update-source o0
R2(conhg-rouler J=network 10.2.2.0 mask 2565.2565.266.0

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: A

NEW QUESTION 97
Which JSON syntax is valid?

(‘switch™ "name” “dist1” “interfaces™ (91’ 992" "g1g3’])
swalch (name  dist1, interfaces | ggl. ggZ. ggd |
(‘'name”. "dist1”, “interfaces’. ["gig1”, "gwg2’". "gig3']}}

witch/™ ["name/ “dist1” Fimerfaces” ['gig1” “gig2". “gig3))

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 101
Refer to the exhibit.

Fxlandsd IP aceess sl FGRESS
10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.0/24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing

traffic flows?

A)
configt
ip access-list extended EGRESS
permitip 10.1.10.0 255.255.255.0 10.1.2.0 2535.2585.2535.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.25656 10.1.2.0 0.0.0.266
C)
config t
ip access-list extended EGRESS2
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
permit ip 10.1.100.0 0.0.0.2585 10.1.2.0 0.0.0.255
deny ip any any
interface g0/1
Nno ip access-group EGRESS out
ip access-group EGRESS2 out
D)
config t
ip access-list extended EGRESS
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.253
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 103
Which method displays text directly into the active console with a synchronous EEM applet policy?
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A. event manager applet boom event syslog pattern 'UP'action 1.0 gets 'logging directly to console'
B. event manager applet boom event syslog pattern 'UP'action 1.0 syslog priority direct msg 'log directly to console’
C. event manager applet boom event syslog pattern 'UP'action 1.0 puts 'logging directly to console'

D. event manager applet boom event syslog pattern 'UP'action 1.0 string 'logging directly to console'

Answer: B

NEW QUESTION 104

To increase total throughput and redundancy on the links between the wireless controller and switch, the customer enabled LAG on the wireless controller Which

EtherChannel mode must be configured on the switch to allow the WLC to connect?

A. Auto

B. Active
C.On

D. Passive

Answer: C

NEW QUESTION 108
Refer to the exhibit.

SwitchClahow vtp atatus

VIP Version : 2

Configuration Revision o

Maximm: VIANS supported locally : 255

Number of exiscing VLANSs : 8

VI? Operzating Mode TEansparent

VIF Domain Name cisco, oom

VIR Pruning Mode Disabled

VIiF Vi Mode Disabled

VIP? TIraps Generation Dizabled

MDS digest OxES Ox2E Ox5D Ox3E Ox2F OxES OxAD Cx2B

configuration last modified by 0.0.0.0 at 1-10-15 05:-01:38

SwitchC#show vlan brief

VIAN Maxmse Ecacus Farts

1 defaunlc accive Fads3, FalOss, Falds5, Fald/E
Fral/7, Fal/8, Fal/s2, Fal/sl0
Fadrs1i, Fads13, Ealdysi3, Fad/s:
ra0/15, FTad/ile, Faldsl7?, FaQ/l
Fadrs1s, Fad/20, Fa0/21, Fads2
Fads23, Fad/z24, Faol

11 Finance active

10 HR active Fal

310 Salas active al/sad

[...output cmitted...]

SwitchC#ahow int trunk

FPort Mod Encapsulation Status Mative vlan

Gigl/l of gd02.1qg crunking i

Cigl/2 en 603.1q srenking i

FoOrt Viane allowed on Ttrunk

Figl/1l 1-1005

Gigls2 +=12005

Fort Vians allowed and active in managemant damaain

Cigl/1 i1,110,210,310

Gigl/z 1,110,210, 310

Fort Vians in spanning tree forwarding state and not pruned

Gigl/l i1,110,2310,310

*igl /& 1,110,.210,310

SwitchCéashow r™un interface port-channel 1

interface Port-channel 1

description Uplink to Core

awitchport mode trunk

SwitchC connects HR and Sales to the Core switch However, business needs require that no traffic from the Finance VLAN traverse this switch Which command

meets this requirement?
A)

SwilchC(conhg )=vtp pruning

B)

SwitchCl(conhg =vtp pruning vian 110

C)
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tchClconhig #interface port-channel 1
wilchClconhg-if #switchport trunk allowed vian add 210,310
SwitchC 'cl*f:f-:;-::interface port-channel 1
SwitchC( '“r-fq if#switchport trunk allowed vian remove 110

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 113
Refer to the exhibit.

Aaccana=list 1 pearmie 10 1.1 .0 0. 0.0, 51
ip AAT poeal CIsco 209, 165 20L.1 209.165.201 .30 nartmask 25% 358 FE& 4
ip nat insida soorca list 1 pool CLSCO0

What are two effect of this configuration? (Choose two.)

A. Inside source addresses are translated to the 209.165.201.0/27 subnet.

B. It establishes a one-to-one NAT translation.

C. The 10.1.1.0/27 subnet is assigned as the inside global address range.

D. The 209.165.201.0/27 subnet is assigned as the outside local address range.
E. The 10.1.1.0/27 subnet is assigned as the inside local addresses.

Answer: AE

NEW QUESTION 116
What are two benefits of virtualizing the server with the use of VMs in data center environment? (Choose two.)

A. Increased security

B. reduced rack space, power, and cooling requirements
C. reduced IP and MAC address requirements

D. speedy deployment

E. smaller Layer 2 domain

Answer: BD

NEW QUESTION 120
Which requirement for an Ansible-managed node is true?

A. It must be a Linux server or a Cisco device.
B. It must have an SSH server running.

C. It must support ad hoc commands.

D. It must have an Ansible Tower installed.

Answer: A

NEW QUESTION 123
Refer to the exhibit.

Mame is Bob Johnson
Ageis 75
Is alive

Favorite Toods are
= Cereal

= Mustard

= Dnions

What is the JSON syntax that is formed the data?

A. Name: Bob, Johson, Age: 75, Alive: true, Favourite Food

B. [Cereal, "Mustard", "Onions}}

C. Name", "Bob" Johson", "Age", 75, "Alive", true, "favourite Foods", ["Cereal, "Mustard", Onions"}}

D. Name', 'Bob Johson,' 'Age’, 75, 'Alive’, true, 'favourite Foods' 'Cereal’, 'Mustard', 'Onions'}

E. Name". "Bob Johson", "Age": Seventyfive, "Alive" true, "favourite Foods" ,[Cereal” "Mustard" "Onions"}}

Answer: C

NEW QUESTION 124
When reason could cause an OSPF neighborship to be in the EXSTART/EXCHANGE state?
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A. Mismatched OSPF network type
B. Mismatched areas

C. Mismatched MTU size

D. Mismatched OSPF link costs

Answer: C
NEW QUESTION 126
Which LISP device is responsible for publishing EID-to-RLOC mappings for a site?

A.ETR

Answer: A

NEW QUESTION 127
Refer to the exhibit.
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Which HTTP JSON response does the python code output give?

A. NameError: name ‘json' is not defined
B. KeyError 'kickstart_ver_str'

C.7.61

D. 7.0(3)I7(4)

Answer: B

NEW QUESTION 132
Which two operations are valid for RESTCONF? (Choose two.)

A. HEAD

B. REMOVE
C. PULL

D. PATCH
E. ADD

F. PUSH

Answer: AD

NEW QUESTION 133
What are two common sources of interference for WI-FI networks? (Choose two.)

A. radar

B. LED lights

C. rogue AP

D. conventional oven
E. fire alarm

Answer: AC

NEW QUESTION 137
A client with IP address 209 16b 201 2b must access a web server on port 80 at 209 16b.200.22b. To allow this traffic. an engineer must add a statement to an
access control list that is applied in the inbound direction on the port connecting to the web server Which statement allows this traffic?
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A. permit tcp host 209 165 200 225 eq 80 host 209.165.201.25
B. permit tcp host 209 165.201 25 host 209.165.200.225 eq 80
C. permit tcp host 209.165.200 225 It 80 host 209.165.201.25

D. permit tcp host 209.165.200.225 host 209.165.201.25 eq 80

Answer: B

NEW QUESTION 141
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